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OR .
Consider a discrete memoryless source with S = {A, B, C, D}.with P = {0.4, 0.3, 0.2, 0.1}.
Find the codeword using Huffian coding. Compute efficiéncy and variance. (08 Marks)
Write a note on LZ-Algorithm with'an example. : (08 Marks)
Module-3 ., .
Show that 3 (06 Marks)
For the Joint Probability Matrix (JPM) m_<n: ﬁ:a i) H(X) i) H(Y) iii) H(X, Y)
iv) H(Y/X) and v) H(X/Y) Fa
yr \

x[02 0o R

X[ 0 0.5, 0.1 o
JPM =P(X,Y)= e ' vud (10 Marks)

X,| O Qe )

x,0.10 0:10"

i OR
State and explain Z_:omw s theorem. (04 Marks)
Find the omumn_Q of the channel for the channel matrix P(Y/X):
P(Y/X)&x,/02 06 02 P (08 Marks)
%01 00 0B8] Ak

Briefly éxplain Differential Entfopy. (04 Marks)

% Module-4:

errors can be tackled :&:mv
i) FEC (Forward Error Correction) 3 >-O codes A>c8§m:n Repeat Request Codes).

(06 Marks)

Consider a (6 3 Linear Block Code Fmg with generator dtrix
100" 1 1 4
10110 .

1 101

All codewords P
All Hamming Wéights

Minimum Hamming weight and Emgwsnn

Parity Check-Matrix (PCM)*

Draw tlie encoder circuit..” (10 Marks)

B v OR
Explain the syndrome c n&nEm:o: and error detection with the help of neat circuit diagram

for cyclic codes. - (06 Marks)
Consider a (15, 7) binary 36__0 code with g(x) = 1 +x* +x* + x” + xb

i) Draw the encoder circuit

ii)  Obtain the codeword for the input (00111)

iiiy  Draw the syndrome calculating circuit. (10 Marks)
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Module-5
Briefly explain: i) Golay codes  ii) BCH codes. (06 Marks)
Consider the convolution encoder shown in Fig. O.w?v,
1)  Write the impulse response of the encoder.
ii)  Find the output for the message (10011) :m.:m :Bo domain approach.
i) Find the output for the message (10011) using transform domain approach.

" Fig.Q.9(b)". (10 Marks)
OR

Explain various, Snwm to represent convolution codes. (06 Marks)

For the convoltioh encoder gM =110, g@=101, g =111

i) Draw-the’enicoder block diagram for.(3, 1, 2) convolution code

ii) Find' ‘generator matrix »

Find.codewords no:‘m%o:niw to information sequence 11101 using time domain and
:,m:mwo:: domain mnnnomn: d Ry (10 Marks)
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